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TEL | e % 22510008/ mebl F 12 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0.0] JE1
2 b BREINELNCE 7 3 TRE TRE TRH TRH TRH TRHE TR TR TR TR TR - - 2 ED
3 (I AROZ DAY 0003 me/BLF 2 <0.0003 <0.0003 <0.0003 <0.0003 <0.0003| 73
A KR OZ DA 0.0005 mg/2LlT 2 <0.00005 <0.00005 <0.00005]  <0.00005|  <0.00005| &4
5 [EL L ROZ DI AW 001 me/eBlF 2 <0.001 <0.001 <0.001 <0.001 <0.001] 35
6 SR O DI AW 001 me/2BLT 2 <0.001 <0.001 <0.001 <0.001 <0.001| %6
T [ERKROZDILEW 001 me/eBlF 2 <0.001 <0.001 <0.001 <0.001 <0.001] 37
T8 | A/ LAY 005 me/2LLT 2 <0.005 <0.005 <0.005 <0.005 <0.005| %8
JE9 | 004 me/BLT 2 <0.004 <0.004 <0.004 <0.004 <0.004| 39
FL10 |7 AL A7 K OHES T 001 me/2BLF 4 £0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001] 10
L1 |RRE 2T K O R RE 2 10 me/0LF 2 1.20 157 157 1.2 1.385 JE11
H12 |7 RROZ DLW 08 mg/2LLT 2 £0.05 <0.05 £0.05 <0.05 <0.05| %12
13 AU RROZDILE 1 mg/aBlF 2 0.01 0.02 0.02 0.01 0.015| J£13
14 TR 0002 mg/2LLF 2 <0.0002 <0.0002 £0.0002 <0.0002 <0.0002| %14
15 [1,4- DA%V 005 me/eBlT 2 <0.005 <0.005 <0.005 <0.005 <0.005] 15
16|y LA ST R 0.04 mg/2LT 2 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 %16
BB 002 mg/allF 2 £0.0002 <0.0002 <0.0002 <0.0002 <0.0002| JE17
JEI8 |7 /an=F L 001 me/eBlF 2 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002|[ %18
19 [N /nnrF i 001 me/2BLT 2 £0.0002 <0.0002 £0.0002 <0.0002 £0.0002| JE19
20 |~ P 001 me/eBlF 2 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002][ %20
ol [l 06 mg/2LLT 4 0.090 £0.05 £0.05 £0.05 0.09 <0.05 0.023| 321
JL22 [yuaEtg 002 me/eBlT 4 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002 <0.002| %22
23 |yl 006 me/2LLT 4 0.0028 0.0034 0.0020 0.0011 0.0034 0.0011 0.00233|[ %23
24 [P aaim 003 me/eBT 4 0.004 0.003 <0.003 0.003 0.004 <0.003 0.0| %24
s |[o T nEsanArs 0.1 me/2LLT 4 0.0014 0.0009 0.0009 0.0012 0.0014 0.0009 0.00110|[ %25
126 [ FmE 001 me/eBlF 4 £0.001 <0.001 <0.001 <0.001 <0.001 <0.001 <0.001] 326
27 [ m A 0.1 me/2LF 4 0.0073 0.0069 0.0047 0.0039 0.0073 0.0039 0.00570 %27
28 [N/ o 003 me/eBT 4 0.003 0.004 <0.003 <0.003 0.004 <0.003 0.0| %28
29 |ToEornuAs 003 me/2LLT 4 0.0031 0.0026 0.0018 0.0016 0.0031 0.0016 0.00228|[ %29
JL30 |7 me AL L 009 me/eBlT 4 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002[[ %30
3L | TR 008 me/eBlF 4 <0.008 <0.008 <0.008 <0.008 <0.008 <0.008 <0.008|[ %31
32 [#idn K OZ DILAW) 1 mg/0BlF 2 <0.001 <0.001 <0.001 <0.001 <0.001] %32
33 [T A= AR OZ O 02 mg/2LLT 4 0.01 0.02 0.02 0.01 0.02 0.01 0.015| £33
L34 [ R OZ DI LM 03 me/2LLF 2 <0.03 <0.03 <0.03 <0.03 <0.03| JE34
35 [l OZ DL AW 1 me/OF 2 <0.001 <0.001 <0.001 <£0.001 <0.001 | %35
336 [F NI LR OEDILEY 200 mg/OATF 2 4.7 6.4 6.4 4.7 5.55( 36
37 |~ o R OZ DI 005 mg/2llF 2 <0.001 <0.001 <0.001 <0.001 <0.001] 337
JE38 [t A 200 me/2LLF 12 10.0 10.1 75 5.8 6.3 6.5 6.3 6.1 5.9 6.5 94 95 10.1 5.8 7.49| Jt3s
FE39 | BTy, =T L 1 () 300 mg/QLLTF 2 28.5 38.4 38.4 28.5 33.45|| %39
A0 R R 500 me/2LLF 2 76.0 84.0 84.0 76.0 80,00 %410
TEA 1 | [t RmiE A 02 mg/2LLT 2 £0.02 <0.02 £0.02 <0.02 <0.02| 341
a2 [ A 0.00001 me/eBLF 5 <0.000001| <0.000001] <0.000001[ <0.000001 <0.000001 <0.000001] <0.000001] <0.000001 || 3£42
HA3 [2— AT AR A —b 0.00001 mg/2LF 5 <0.000001]_ <0.000001] _<0.000001] _<0.000001 <0.000001 <0.000001]  <0.000001]  <0.000001 || %43
T4 [JeA e R Al 002 me/eBlF 2 <0.002 <0.002 <0.002 <0.002 <0.002| 44
45 |7~/ — LM 0005 mg/2LLF 2 £0.0005 <0.0005 £0.0005 <0.0005 <0.0005( 45
46 | e (R AR R E (TOOD i) 3 me/LLF 12 0.5 0.5 0.6 0.5 0.4 0.4 0.6 0.3 0.5 0.5 0.4 <03 0.6 <0.3 0.43| Jt16
AT [pHiE 5.8~8.6 12 7.44 7.48 7.50 7.40 7.42 7.45 7.47 7.39 7.52 7.57 7.42 7.36 757 7.36 7.452| 747
248 [k EERTRLIE 2l EELGL| EELL] EBEELGL| ERLL| EELL| EBEELGL| EELL| EBLL] EBEELGL| EELL| EBLL[ EBEELGL - - —|[ 718
49 |55 EETHNIE 12 EELL EELGL EEGL EEGL EELGL E2ELGL EELL EELL EELGL E2ELGL EEGL EELL - - —[| #49
50 | 5 BT 12 <05 <05 <05 <05 <05 <0.5 <05 <05 <05 <0.5 <05 <05 <05 <05 0.5 J£50
51 [ EDNS 12 0.1 <0.1 0.1 0.1 0.1 0.1 <0.1 <0.1 <0.1 0.1 <0.1 0.1 0.1 0.1 <01 7%51
Pt me/2 12 0.35 0.33 0.33 0.33 0.33 0.33 0.30 0.33 0.33 0.30 0.40 0.40 0.4 0.3 0.338
BREEE 1(S/em 12 128.0 126.0 107.0 945 92.2 98.8 104.0 93.0 103.0 114.0 121.0 124.0 128.0 922 108.79
K& 5 z i T 5 z B 5 5 5 5 S - - -
R °C 15.0 14.5 15.0 19.0 26.0 22.0 17.0 14.0 5.0 0.0 4.0 7.0 26.0 0.0 13.21
K. °C 8.7 10.0 15.6 17.8 20.4 21.4 20.0 13.5 10.6 6.7 6.4 6.7 214 6.4 13.15
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